HILWAEY TIVIRIEH#EAT—Y 3y

INEY F—¥ a LHEM
SHIHHET—% PR3EIH3IHIR [344)
MR (%) - SFEHm (AR

20

14
10 6 6
 a B n D
oot mllom :
| O S A A N
g S S FTFSSHS
RESEANED
40
20
8 3 6 5 6

EE (AR

30

FINEE 1 2.8

20
12
10
. 6 4 5 4 5
0 - l 0
SR 1

BEXiE]l BEXE2 ENEl ENnE2 ENnE3 ENnEd EnEsS ER RERH




HEH (%) - BRARE (AF)
1ER — 0.0%
2B — 95%
3HEfI — 5%
12841 — 0.0% PN
Bl — Q% \Lrn20% 2Midon 3BMeon)
40
21
20
1 3 I 1 1
; 0 0 0 ] 0
1[g] 2[5] 3[q] 4[=] 5[] 6[8] 7[5] gE 10H 12[H]
iRkl (A%
20
10 8 8
2 ) ’ 3 3 3 I I 3 ) .
o | I = B N H =
o & & R 4 A
& £ )%fv %f@ N )@@ y)zégi%’é
BESH (AB)  BE (AK) EBEELEFSE AR
23
20 20 20
14
11 12
8
0 o B
B fthx WA EER  EE




